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[. Find the following values, if exist. ‘ ‘ (30%)
5
(a),/ Ja? - 3)dx ‘ (b) lim n(a'" ~1)
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i . 1., % gin u ) |
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(e) /“' e cos xdx (n .Ae sin(In ::,;)tlw

2. Determine whether the given series converges or diverges. (10%) ;
; . |
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0 g .
3. Find 1 for the following y. (10%)
de. . :
. V142?232 4+ 2)3 !
(a)y= L+ %3z +2) (l))y=/ cos® Ll
- \5/.1:2(.1 + 1) Tz
| 4. Prove thal all normals to the curve a2 + y? = a? pass through the origin, (10%) |

: 5. Find the area bounded by the graphs of the cqualions Jy—x =6, r+y = ~2and 2 ¥ y? = 4. (10%)
6. Find the length of the graph of y = %(e’ +€7%) from (0,1) to (In2,5/4). . (10%)
7. 1s the function
;5'%7’ il (x,y) #(0,0)
](":s !/) = )
0, il (x,9)=(0,0)
continuous at (0,0)? ' . (10%)

8. Let Q2 be the region bounded by & = 1,y = 0, and y = 2. Evaluate // ddy. (10%)
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